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1. Among a company's assets and accounting records, an actuary finds a 12-year bond that was purchased at
a premium. From the records, the actuary has determined the following:
(i) The bond pays semiannual interest.

(ii) The amount for amortization of the premium in coupon payment number 4 was 855.68.

(iii) The amount for amortization of the premium in coupon payment number 9 was 968.12.
What is the value of the premium? [7.c #02]
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2. Becky buys an n-year 1000 par value bond with 5.5% annual coupons at a price of 877.58. The price
assumes an annual effective yield rate of i. The total write-up in the book value of the bond during the
first 2 years after purchase is 22.45. Calculate i. [7.c #08]
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3. An n-year 1000 par value bond with 6.5% annual coupons has an annual effective yield of i, i >0. The
book value of the bond at the end of year 8 is 1224.68 and the book value at the end of year 10 is 1204.46.
Calculate the purchase price of the bond. [7.c #09]
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4. A 28-year 10,000 bond that pays 4% annual coupons matures at par. It is purchased to yield 5.5% for the

first 19 years, and 4.5% thereafter. Calculate the amount for accumulation of discount for year 6. [7.c
#14]
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5. A 1000 par value bond with 6.5% annual coupons is purchased at a discount 22 years prior to the maturity
date. The proceeds of the coupons are invested in a savings account with a 9.5% effective annual rate of
interest. The effective yield on the 22 year investment - including the bond and the savings account - is
9.61%. What is the book value of the bond one year after purchase? [7.c #19]
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